Events / 30 GeV

38.2 fo* (13 TeV)

1200; Inclusive CR CMS
1000F + Data
E {.iQCD m PDF
8001 [Jtt m PDF
600 F Fit parameters:
L tt norm = 1.16 +0.07
00 Eo e,
r QCD shift = (-14.4 + 2.4) GeV
200 QCD stretch = (-4.7 + 1.3)%
O’ 4 N
- 2F {
S 2t d Bt
€ ottty
0 200 600 800 1000
m [GeV]

Events / 30 GeV

Pull

200

150

100

50

NO

NO

38.2 fb* (13 TeV)

b-tagged CR

CMS

______ :QCD m PDF
|:|tt  PDF

Fit parameters:

tt norm = 1.16 + 0.08

tT shift = (6.5 + 2.1) GeV

tT stretch = (+15.9 + 4.7)%
QCD shift = (2.8 + 5.1) GeV
QCD stretch = (+14.4 + 3.0)%
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